2150

ABHAfKFI1 (ETWS50HC)

18 yyy7-52ME LA (LAL- LAD A3t

8o [ [Bo
NG
B L |

H1800
5 2290 (HE)
| BE%F=S | KFTH03923
21280 406 406
3(1)5 13@160960897 81.5181.5 13@69=897 8182 = 1‘ S & @
3 . — = — ' . n nonfhon/non
o e o o o] e o & oo
: 11 @ ||® g
O [E_ Errrrrrr dlin . mimimim jl_____ ) 0 a )
L(j E:E _________ég"fé_ ____%H iR @ g ° ° ® o ® L] L] L] L] 08
NEE1 C.I ) ‘:a_ ©
BIRIBIBIRIA . o o
ol o N \ L || : : | )\W e o o o ‘/K
=IRSIRS! N g il Uil Il il imigt Cooooll ooooot
O —| — T (%) ) (®)
— 7 {ERABN (1715)
L D E H
BE % it % B % (mm) it H i# z
I 1 B M K 0100x50x 3.2 STKR400 SHiiEE (FREND- )
I18:1; -3 T 2 MR & ® 050x 26x11.6 STKM11A18% ]
R ] :::::::::;f:«[ ES: 0 I o o o 3 SET Y 050% 26xt1.6 ] ]
f[ 1 4 BB t1.6 SGH ]
o i B N o 5 " 030x20xt1.2 AB6063S-T5 BRRILEOEE+Y - tit
o 6 R t4.5. 920 SPHC SHiiEE (FREND- )
Rloll 7 L vy t6. $20 y v
M| 2 TN MM M 8 Ey I B 412 - BHBRD- %
8 @ 9 B¢ vy 4x 20 AFYLA —
S - @ 10 B % 12 &30
- = h = 11 L B $13 SGD BRBAY- &
FEN (1/29 N d| || [l 12] #UBTL-+ t4 SPHC ]
EAE. RBEOB N B 13| EUBALy R- - ATV A —
B RBOAXSUSETHTT, /@ 14 4547 - PVC -
0550 15 274 F28 £3.2 SGMH400MS | #EHARE (FaBHv- %)
- >@ 16 A74 F$U2E t4.5 " "
3| 732 17 N R M10x 75 4.618% BREND- &
i} 18 v M8x 100 [ ]
NBFHBR (1710 19 0 M8x 70 ) p
20 ] M8x 45 ] ]
50 o 21 p M8x 40 ) p
46 L0 ,A 4—| B 22 [ M8x 20 " [
23 b7 A Y M6x 40 ATYUA —
@: - 24 Dz M4x 35 27YLA =
m I 25| FHyTL- t3.2 SGH HEWGRE FhBihw- %)
o — — 26 vy §-§t LAY ) - R - Moy 78
I
@ & < — E[” E L 271 vuvi-sr-x t1.0 SGH BERmER (FaBND- $)
o~ I 28 Ky ATV b t1.0. t6.0 ] ]
TI' = I 29| Ky rARN-t- t1.6 ] v
I . I 30 2T} 2.3 ] ]
T =1 = - 31 R7U- b GHAD t3.0 RYN-K2— b -
$15 S 21 #70-+ &3 ] ) -
S | r 33 TR WA t1.6 SGH HERMER (FHBRD- F)
14 5 %_ _I_r 34| €7 AVTyYe- M5x 19 A7YL2A -
e G BRABEIRROLYD. FEuC(EBTAILABYET,
9 ) > ACAER © ) A BIBE: vy S -RE. BREBLAVET,
OBFAR 17100 ™ ZHEFAR (1710 yYy4-3t (ENOy 78) LA (LAL [AD v U - X% SHAKKE RO, (A 7ty | 64mm. EES50mm)

EFOBAE. BIRFI-vY Y I-2ZBAK O,



